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5.statement 31

5.1 navima

1.1.1. FULEDPSS |
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{
“timestamp" : "2024-03-22T713:50:40+09:00",
"actor" : {
"objectType": "Agent",
"account” : {

"homePage" : "http://example.com”,
"name" : "AOEEBC99-9COB-4EF8-BB6D-6BB9BD380A11"

17
"verb" : {
"id":"http://adlnet.gov/expapi/verbs/attempted"
17
"object" : {
"id" : "https://www.navima.jp/math/drill_practice/(E&)",
"definition" : {
"extensions” : {

"http://example.com/xapi/activityextension/difficulty" : 3.5

2
"context" : {

"contextActivities" : {

"grouping” : [
{
"id" : "http://subsetcode.navima.jp/J030/J1#ABCDEF"
}
]




"extensions" : {

"http://example.com/xapi/contentextension/scene" :

{

"selfstudy" : true

QDR TOI1IVITIRY MEFEITT B,
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“timestamp" : "2024-03-22T713:50:40+09:00",
"actor" : {
"objectType": "Agent”,
"account” : {
"homePage" : "http://example.com”,
"name" : "AOEEBC99-9COB-4EF8-BB6D-6BB9BD380A11"

17
"verb" : {
"id":"http://adlnet.gov/expapi/verbs/answered"
17
"object" : {
"id" : "https://www.navima.jp/math/drill_practice/(E&)",
"definition" : {
"type" : "http://adlnet.gov/expapi/activities/cmi.interaction”,
"interactionType" : "fill-in",
"extensions" : {

"http://example.com/xapi/activityextension/difficulty" : 3.5

|3
"result" : {

"response": "ABC",




"score" : {
"scaled" : 0.95

}I
"context" : {

"contextActivities" : {

"parent” : [
{
"id" : "https://www.navima.jp/math/drill_practice/(B&)"
}
1,
"grouping” : [
{
"id" : "http://subsetcode.navima.jp/J030/J1#ABCDEF"
}
]

2
"extensions" : {

"http://example.com/xapi/contentextension/scene" :

{

"selfstudy" : true
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{
"timestamp" : "2024-03-22T13:50:40+09:00",
"actor" : {
"objectType": "Agent”,
"account” : {

"homePage" : "http://example.com”,
"name" : "AOEEBC99-9COB-4EF8-BB6D-6BB9BD380A11"




17
"verb" : {
"id":"http://adlnet.gov/expapi/verbs/completed"
17
"object" : {
"id" : "https://www.navima.jp/math/drill_practice/(E&)"
17
"result" : {

"success" : true

}
}
5.2 WEBQU
{
“timestamp" : "2024-03-22T713:50:40+09:00",
"actor" : {
"objectType": "Agent”,
"account” : {

"homePage" : "http://example.com”,
"name" : "AOEEBC99-9COB-4EF8-BB6D-6BB9BD380A11"

}
17
"verb" : {
"id":"http://adlnet.gov/expapi/verbs/answered"
17
"object" : {
"id" : "https://www.webqu.jp/abc”,
"definition" : {

"type" : "http://adlnet.gov/expapi/activities/cmi.interaction”,
"interactionType" : "other",

"extensions" : {

"http://example.com/xapi/activityextension/regexResponsesPattern” :

5],[1-51,[1-5],[1-51,[1-5],[1-5],[1-5],[1-5]$"
}

“A[1-5],[1-




"result" : {
"response™: "1,2,3,4,5,1,2,3,4"




